Splashlearn

Winter Multiplication

Solve the following word problems.

Sarah bought 5 packs of snowflakes, with each
pack containing 7 snowflakes. How many
snowflakes did she buy in total?

A snowman is made of 3 snowballs. How many
snowballs are needed to make 8 showmen?

If a sled can carry 5 people, how many people can
9 sleds carry?

Lisa baked 5 batches of gingerbread cookies, with
each batch having 4 cookies. How many
gingerbread cookies did she bake in all?

A snowplow clears 4 streets in an hour. How many
streets can it clear in 7 hours?

David bought 9 holiday greeting cards and put 8
stickers on each card. How many stickers did he
use in total?

A winter coat has 6 buttons. How many buttons are
there on 9 winter coats?

If a fireplace burns 3 logs per hour, how many logs
does it burn in 7 hours?

9 Mark bought 5 sets of holiday lights, with each set
containing 6 bulbs. How many bulbs did he buy in
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